MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Fiddlers Green Lift Station and Force Main Replacement	DATE POSTED	MC V5 27 15 SE DS V 5 27 15 SE CC N/A
PURCHASING REPRESENTATIVE	Olga Valcich, Ext 3055	DATE CONTRACT SHALL BE AWARDED	
DEPARTMENT	Public Works Department	CONSEQUENCES IF DEFERRED	W. 1884
SOLICITATION	IFB #15-1244-OV	AUTHORIZED BY DATE	Melissa Wendel May, 5/27,2015

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid #15-1244-OV, Fiddlers Green Lift Station and Force Main Replacement, 1312 91st Ct., N.W., Bradenton, FL (Project No.: 402-5133080) to the lowest, responsive, responsible bidder, Andrew Sitework, 2511 Palm Avenue, Fort Myers, FL for a total base bid of \$243,886.50, (Bid B) for a completion time of 210 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

The Work consists of the complete removal of the existing wet well, valve vault, and the abandonment of the existing force main of the existing lift station located at 1312 91st Ct N.W., Bradenton, FL. Contractor shall also furnish and install a complete wet well and above-ground valve assembly, relocate the existing control panel, install a new concrete driveway and install a new 4" force main via horizontal directional drill that will connect to an existing 6" force main in the 17th Avenue N.W. right-of-way. Contractor shall furnish all shop drawings, working drawings, labor, materials, equipment, tools, services and incidentals necessary to complete all work required by the specifications and contract drawings. Successful Contractor will be required to obtain a Confined Space Entry permit for this project.

Appropriate Bid procedures were followed. Notice of Bid availability was a advertised on mymanatee.org, DemandStar and the Manatee Chamber of Commerce.

Background discussion continued on Page 2.

ATTACHMENTS (List in order of attached)	Department RecommendationBid Tabulation	FUNDING SOURCE (Acct Number & Name)	x	Funds verified, Acct No. 4025133080- 534000- 5133080-004. Funding Source: Utility Rates
COST	\$243,886.50	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)		

IFB #15-1224-OV, Fiddlers Green Lift Station and Force Main Replacement, 1312 91st St Ct., N.W. Bradenton, FL.

Bid Offers Collier County	Bid "A"	Bid "B"
Quality Enterprises USA, Inc.	\$273,811.29	\$273,811.29
Lee County Andrew Sitework, LLC Fort Myers, FL	\$243,886.50	\$243,886.60
Manatee County Woodruff & Sons, Inc.	\$650,062.80	\$578,277.85

On May 27, 2015, a memorandum from Project Management Division was received recommending award to Andrew Sitework, Fort Myers, FL the lowest, responsive, responsible bidder for a <u>total base bid of \$243,886.50 with a completion time of 210 Calendar Days (Bid "B").</u>

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P.E., Project Management Division Manage

Date:

May 27, 2015

Subject:

Fiddler's Green Lift Station and Force Main Replacement

Andrew Sitework LLC

Recommendation for Award - IFB#15-1244-OV

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid "B", with a construction time of 210 calendar days be awarded to the lowest responsive, responsible bidder, Andrew Sitework LLC in the amount of \$243,886.50 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

Please contact Sherri Robinson, Project Manager if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/sr

cc:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Sherri Robinson, Project Manager Sk Nick Wagner, Lift Stations Superintendent

Bill Elmore, Utilities Superintendent

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 402-5133080

Public Works Department
Project Management Division
1022 26th Avenue East, Bradenton, FL 34208-3926
Phone number: (941) 708-7450

IFB #15-1244-OV

FIDDLER'S GREEN LIFT STATION AND FORCE MAIN REPLACEMENT (1312 91st Street Court Northwest)

				2 20	a the life of the late of	1949	and the second	42.		5	7 # 1 T	1.	, - 1999 by the 1	3	
BID "A" 150 CALENDAR DAYS		Andrew Sitework LLC 2511 Palm Avenue Fort Myers, FL 33916 (Lee County)					Quality Enterprises USA 3894 Mannix Orive, Suite 216 Naples, FL 34114-5406 (Collier County)				Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282-0127 (Manatse County)				
FUI	INISH & INSTALL FORCE MAIN (Bid Items 1 - 14)	-					, , , , , , , , , , , , , , , , , , ,								
Iten No.			Qty		Unit Price		Extended Price		Unit Price		Extended Price	Unit Price			Extended Price
1	Curb	LF	30	\$	34.00	\$	1,020.00	\$	66.55	\$	1,996.50	\$	75.49	\$	2,284.70
2	Asphalt Pavement Restoration (Base & 1 1/2" S-III)	SY	15	\$	133.00	\$	1,995.00	\$	171.15	\$	2,567.25	\$	571.94		8,579.10
3	Asphalt Pavement Restoration (Milli & Resurface)	SY	235	\$	67.00	\$	15,745.00	\$	24.35	\$	5,722.25	\$	85.80	\$	20,163.00
4	Sidewalk, Concrete (4" Min Thick)	SY	17	S	60.00	5	1,020.00	\$	99.25	\$	1,687.25	\$	137.57	\$	2,338.69
5	Drivewaay, Concrete (6" Min Thick) Lift Station	SY	20	\$	60.00	\$	1,200.00	\$	136.50	\$	2,730.00	\$	105.66	\$	2,113.20
6	Sod	SY	42	\$	24.00	\$	1,008.00	\$	11.15	\$	468.30	\$	28.25	\$	1,186.50
7	Abandon Existing 3" Force Main, Grout Fill - Addendum #1	CY	12	\$	250.00	\$	3,000.00	\$	785.40	\$	9,424.80	\$	1,071.70	\$	12,860.40
8	Remove Existing Valve	EA	2	\$	255.00	\$	510.00	\$	325.00	\$	658.00	\$	374.10	\$	748.20
9	4" PVD C-900 (DR-18), Direct Bury - Addendum #1	LF	12	\$	182.00	\$	2,184.00	\$	111.00	\$	1,332.00	\$	67.08	\$	804.96
10	4" HDPE, DR-11, HDD	LF	1,100	\$	22.00	\$	24,200.00	\$	48.58	\$	51,238.00	\$	107.99	\$	118,789.00
11	Fittings, Di	LB	255	\$	1.00	\$	255.00	\$	8.90	\$	2,269.50	\$	14.79	\$	3,771.45
12		EA	4	\$	633,00	\$	2,532.00	\$	671.50	\$	2,686.00	\$	1,817.08	\$	7,268.32
13	4" Gate Valve, MJ - Addendum #2 (Revise Qty from 1 to 2)	EA	2	\$	966.00	\$	1,932.00	\$	1,385.00	\$	2,770.00	\$	1,515.13	\$	3,030.26
14	5" x 4" Cut in Tea - Addendum #2 (Revise Qty from 2 to 1)	EA	1	\$	4,240.00	\$	4,240.00	\$	2,290.00	\$	2,290.00	\$	22,294,60	\$	22,294.60
	Subtotal Construction Cost - Furnish & Install Force Main	2.5	4	1		-	60,841.00	ı	*, i ***	- \$	87,831.85			\$	206,212.38
FUI	RNISH & INSTALL LIFT STATION (Bid Items 15 - 17)														
15	Existing Lift Station - Complete Abandonment & Removal	LS	1	\$	33,713.00	\$	33,713.00	\$	7,312.50	\$	7,312.50	\$	37,138.21	\$	37,138.21
18	New 6" Dia, Wetwell & Above Ground Valve Assembly	LS	1	s	83,385.00	\$	83,385.00	\$		\$	88,970.00	\$	208,457.90	\$	208,457.90
17	By-Pass Pumping	LS	1	8	8,270.00	\$	8,270.00	\$	13,000.00	\$	13,000.00	\$	59,656.72	\$	59,656.72
1.14	Subtotal Construction Cost - Furnish & Install Lift Station	O TOTAL OF	9 /25 (20)	1123		5	125,368.00			*	109,282.50			5	305,252.83
19	Mobilization	LS	1			\$	19,411.00	T		\$	24,765.00			\$	38,050.76
20	Miscellaneous Work and Cleanup	LS	1	~ 1	***	\$	11,990.00			\$	24,440.00			\$	39,740.20
21	Record Drawings	LS	1			\$	4,105.00			\$	2,600.00			\$	1,710.01
	TOTAL BASE BID - Based on a Completion Time of 150 Calendar Days					\$	221,715.00			\$	248,919.35			\$	590,966.18
22	Contract Contingency Work (Used only with County Approval)	%	10	T		\$	22,171.50			\$	24,891,94			\$	59,096.62
	TOTAL AWARD OFFER FOR BID with Contract Contingency - Bid "A" based on a Completion time of 150 Calendar Days - Addendum					\$	243,886.50			\$	273,811.29			\$	650,062.80
Acknowledged Addendum #1, #2, #3 and #4			Yes				Yes					Yes			
-	itractor's Questionnaire & License				Yes - CU	C12	24864	Y	es - CBCA572	231/	CUC057398	П	Yes-CGC0288	40/C	UC032662
Pul	olic Contracting & Environmental Crimes Certification				Y	es			Y	es			Y	es	
	rida Trench Safety Act				Y	es			Y	es		Г	Y	es	
Bird	Band				Y	es			Y	es			Y	05	17-

BID TABULATION

FOR

IFB #15-1244-OV

FIDDLER'S GREEN LIFT STATION AND FORCE MAIN REPLACEMENT

BID "A" BASED ON A COMPLETION TIME OF 150 CALENDAR DAYS

PREPARED BY: (Project Management)	Ricardo Colon, P.E., Project Engineer II	Date
REVIEWED BY: (Project Engineer)	Shea Shoun, P.E., Sr. Project Engineer	S/22/15 Date
REVIEWED BY: (Project Manager)	Sherri Robinson, Project Manager	5/91/15 Date
APPROVED BY: (Purchasing)	Olga Valcich, Contract Specialist	5/20/15 Date

Page 2

5/20/2015

IFB #15-1244-OV FIDDLER'S GREEN LIFT STATION AND FORCE MAIN REPLACEMENT (1312 91st Street Court Northwest)

						3 13								10.00	
BID "B" 210 CALENDAR DAYS			Andrew Sitework LLC 2511 Paim Avenua Fort Myers, FL 33916 (Lee County)					Quality Enterprises USA 3894 Mannix Drive, Suite 216 Naples, FL 34114-5406 (Coiller County)				Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282-0127 (Manatse County)			
FURN	SH & INSTALL FORCE MAIN (Bid Items 1 - 14)			-			A see constant	711.6-7					- in a month little		
No.	Ine Item	UM	City		Unit		Extended		Unit Price	Extended			Unit		Extended Price
	turb	LF	30	\$	34.00	\$	1,020.00	S	66.55	\$	1,996.50	S	57.16	\$	2,014.80
_	sphalt Pavement Restoration (Base & 1 1/2" S-III)	SY	15	\$		\$	1,995.00	\$	171.15	ALC: UNKNOWN	2,567.25	\$	534.60	\$	8,019.00
	sphalt Pavement Restoration (Miii & Resurface)	SY	235	\$	67,00	\$	15,745.00	\$	24.35	\$	5,722,25	\$	85.80	\$	20,163.00
4 8	idewalk, Concrete [4" Min Thick)	SY	17	\$	60.00	\$	1,020.00	\$	99.25	\$	1,687.25	\$	124.03	\$	2,108.51
	rivewaay, Concrete (6" Min Thick) Lift Station	SY	20	\$	60.00	\$	1,200.00	\$	136.50	\$	2,730.00	S	97.95	s	1,959.00
	od	SY	42	\$	24.00	\$	1,008.00	5	11.15	AUD/Ordered	468.30	\$	25,22	\$	1,059.24
7 /	bandon Existing 3" Force Main, Grout Fill - Addendum #1	CY	12	\$	250.00	\$	3,000.00	\$	785.40	\$	9,424.80	\$	942.94	\$	11,315.28
	lemove Existing Valve	EA	2	\$	255.00	\$	510.00	\$	325.00	5	650.00	5	306.28	\$	612.58
And desiration of the last	" PVD C-900 (DR-18), Direct Bury - Addendum #1	LF	12	\$	182.00	S	2,184.00	5	111.00	\$	1,332.00	\$	55.78	S	669.36
	" HDPE, DR-11, HDD	LF	1,100	S	22.00	S	24,200.00	5	46.58	\$	51,238.00	\$	91.68	S	100,848.00
	ittings, DI	LB	255	\$	1.00	\$	255.00	\$	8.90	\$	2,269.50	\$	13,82	\$	3,524.10
	" MJ to HDPE Pipe Adapters	EA	4	\$	633.00	\$	2,532.00	\$	671.50	\$	2,686.00	\$	1,532,61	\$	6,130.44
The second secon	" Gate Valve, MJ - Addendum #2 (Revise Qty from 1 to 2)	EA	2	S	966.00	\$	1,932.00	\$	1,385.00	\$	2,770.00	\$	1,402.99	\$	2,805.98
	" x 4" Cut in Tee - Addendum #2 (Revise City from 2 to 1)	EA	1	\$	4,240.00	\$	4,240.00	\$	2,290.00	\$	2,290.00	\$	19,743.91	\$	19,743.91
NAME OF TAXABLE PARTY.	ubtotal Construction Cost - Furnish & Install Force Main	•	1			8	60,841.00		4	\$	87,831.85			\$	180,973.18
FURN	SH & INSTALL LIFT STATION (Bid Items 15 - 17)							4							
15	xisting Lift Station - Complete Abandonment & Removal	LS	1	13	33,713.00	\$	33,713.00	\$	7,312.50	\$	7,312.50	8	32,532.86	\$	32,532.86
-	lew 6" Dia. Wetwell 5. Above Ground Valve Assembly	LS	1	3		\$	83,385.00	5	88,970.00	September 1	88,970.00	\$	184,569.80	S	184,569.80
	ly-Pass Pumping	LS	1	\$	8,270.00	\$	8,270.00	\$	13,000.00	\$	13,000.80	\$	55,347.46	\$	55,347.46
	subtotal Construction Cost - Furnish & Install Lift Station				No. of the last	\$	125,368.90			8	109,282.50	5		\$	272,450.12
	fobilization	LS	1			\$	19,411.00			\$	24,765.00			\$	33,595.49
20	liscellaneous Work and Cleanup	LS	1			\$	11,990.00	5160		\$	24,440.00			\$	36,978.35
-	tecord Drawings	LS	1			\$	4,105.00		N. T. W. L. Const	\$	2,600.00		-	\$	1,710.00
	OTAL BASE BID - Based on a Completion Time of 210 Calendar lays					\$	221,715.00			\$	248,919.35			\$	525,707.14
22	Contract Contingency Work (Used only with County Approval)	%	10			\$	22,171.50			\$	24,891.94			\$	52,570.71
30.0	OTAL AWARD OFFER FOR BID with Contract Contingency - Bid B" based on a Completion time of 210 Calendar Days - Addendum 2					\$	243,886.50			\$	273,811.29			\$	578,277.85
Acknowledged Addendum #1, #2, #3 and #4			Yes				Yes					Y	85		
Contractor's Questionnaire & License				Yes - CU	C12	24664	Yes - CBCA57231/CUC057398					Yes-CGC0268	40/C	UC032662	
Public	Contracting & Environmental Crimes Certification				Y	es			Y	es			Y	8 5	We will be the same
_	a Trench Safety Act				Y	es		Yes					Y	es	
Bld B	The state of the s		-		Y	63			Y	8.5		-	Y	95	

BID TABULATION

FOR

IFB #15-1244-OV

FIDDLER'S GREEN LIFT STATION AND FORCE MAIN REPLACEMENT

BID "B" BASED ON A COMPLETION TIME OF 210 CALENDAR DAYS

PREPARED BY: (Project Management)	Ricardo Colon, P.E., Project Engineer II	Date
REVIEWED BY: (Project Engineer)	Shea Shoun, P.E., Sr. Project Engineer	9/22/15 Date
REVIEWED BY: (Project Manager)	Sherri Robinson, Project Manager	5/2V15 Date
APPROVED BY: (Purchasing)	Olga Valcich, Contract Specialist	3/20/15 Date